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n+1, m=20
A(m,n) = Alm—1, 1), m = 0, n=>0
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f~'(n) = min{k = 1: A(k, k) = n}
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1, m=20
K(mmn) = Km—-1,1)+1, m=>0n=0
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long RecursionAckermann (int M, int n)
{
if (m==0)
{
returnn+ 1
}
qooif (N==0&& m > 0)
{
return RecursionAckermann(m - 1, 1);
}
else
{
retur n RecursionAckermann(m - 1, RecursionAckermann(m, n - 1);
}
}
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const int tsize = 20000



int Sltsize];

. : n)
long Iter ationAckermann (int ™ Int

{

intt=1d=1
St] =m;
do
{
m=st-;
if (‘m)
N+
aseif (N
{
g++H] =m-1
n=21
}
else
{
g++H] =m- 1
++] =m;
n-=21,



{
d=t;
if (d>tsize)
return -1
}
}
while (0);
return
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int Rever seAckermann (int n)

{
intk=1
int value;
while(true)
{
value = RecursionAckermann(k, k);
if(value >=n)
return K;
k++:
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double Hyper (int a, int N, int b)
{
if (n==0
return b+ 1

nm::1&&b::@
return &

ifmzzz&&b::@

return O

ifm>=3&&b::m

return 1
ifUP:l&&b>:1&&a>:m
return Hyper(a n-1, Hyper(a, n, b - 1));

return -1


http://www.tcpdf.org

